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Figure 1
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Figure 2

IR Emitter-Detector Pair.


Salomon Trujillo (sjtrujil@stanford.edu)





Vout is an output voltage from 2.5 volts to 0 volts, where 2.5 volts indicates a lack of IR light and zero is the maximum amount of light.





R1 controls the sensitivity of the detector. Increasing R1 will linearly increase the sensitivity. If the – input (pin 2) rises above 2.5 volts, then the sensor has saturated and the sensitivity should be decreased.





Figure 1 shows an IR led connected to a current source. Such a configuration is only necessary if the brightness of the IR light source must be constant from day to day. In this configuration, increasing R2 will linearly increase the brightness of the IR LED. The draw-back is that the 324 can only handle so much current. If the – input (pin 6) rises above 2.5 volts, then the LED is too bright.





Figure 2 shows the LED without the current source. The brightness of this configuration is fairly constant, but might vary dependent on temperature and other variations. Increasing R2 in this configuration will decrease the brightness in a non-linear fashion. (It’s not inverse proportional either.)





C1 will help to reject power supply noise. Must be 0.1 uF ceramic!








